SEV-50X

—= KOSHIN

B{% SEV-50X-AAA-4 {(K180-F2) (012913308)

* RMAE (3R —{E 5 1 U QBB TS

No. | #B&a— K B & % EmAEs R s - M B H =

1] 012019502 | R> 7o —2R 1 | ADC 6050

2| 011266203 | RATZS D 1| ADC 1400

3| 011266502 | F+ vF/NILT 1 | NBR 750 N

4| 011807802 | 20AFS545 U= 2 300 | PA-156(4971770-102156)

5| 012122602 | 7502754 v b 1 | ADC 4600

6| 012093402 | BE= 1| ADC 2200

7| 012122701 | 41 RS 1| FC 2300

8| 011055606 | MHT7S>¥ 1 2900

9| 011054102 | MHE TSNy F> 1] CR 350 N
10 | 012845003 | SEV-50X-AAA-2 N—R & = 1| 854 U2 NO533 8050
11| 011049102 | A U RSART v v — 3 | BSP 100 N
12| 012179703 | T2 1 | K180-F2 -
13| 011066402 | A*h=HIP—)b 1] ¢20 2500
14| 011815901 | AL —F—24 = 1| PP(48Y1Y) 2000
15 | 940019060 | 7k—R/N> R 3| ¢60 200 N
16 | 012800501 | #lg7 > vFhoyFUL s o2 2 4300
17 | 011800301 | #lgH A0y ZHTDF L /N—1F (2" 2 2550
18 | 012047901 | halwy Z/XyF> (VING) 2 | NBR 450 N
19 | 012021102 | #igHhAO Y I &4E (2") 2 | PA 1000
20| 012021301 | #lshLny &GNy £ (2" 2 | NBR 300 N
21| 012148605 | SEV-50X-AAA-4 $4iR 1| FhEY74hh 100 N
22| 011501402 | O U 1 | 1517-42.5 NBR 450 N
23| 011279202 | OU ¥ 1 | P54 NBR 200 N
24 | 743119045 | bVU A REERESEANERIL S 3 | M8%X20 SWRM 100 N
25| 743119047 | b VU A REERESEANARIL S 4 | M8X25 SWRM 100 N
26 | 743119053 | kU A REFRESEANERIL S 4 | M8X40 SWRM 100 N
27 | 743119046 | bV A REERESHEANERIL S 4 | M8X22 SWRM 100 N
28 | 734532076 | ANEINATARIL b 4 | M8X60 SCM CS 150 N
29 | 854255008 | ¥—IT v+ 4| ¢8 100 N
30 | 827419008 | AFEF v k 4 | M8 SWRM 100 N

OEMTALEBRORERITo>TEY A,

OBl FER<ERT B EBHYUET,

OXRTMERICHERIEENTEY £t A,

O EBRRHEBIDYET,



SEV-50X

—= KOSHIN

B4 SEV-50X-AAA-4 <K180-F2> (012913308)

* RMAE (3R —{E 5 1 U QBB TS

No. | #B&a— K B & % EAEs Bk - MO B H =

31| 012230701 | SEf&HHA RARILSAN)L 1 200

32| 889955025 | O U4 2 | G25 100 N
012151502 | Ny F oo —2R 1 2050
012013704 | EiREHiBAZE 1| A4 300 N
012151603 | SEV-50X-AAA ExEitftHik 1| A4 100 N

OEMTALEBRORERITo>TEY A,

OBl FER<ERT B EBHYUET,

OXRTMERICHERIEENTEY £t A,

O EBRRHEBIDYET,



_ wﬁmtﬂ:

https://www.pump-oroshi.com/

N TRUR@ICEAT 2 HEVEDE



https://www.pump-oroshi.com/
https://www.pump-oroshi.com/
mailto:the-pump@chuoshoko.com

